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Name:

F.TF.C.8: Determining Trigonometric Functions 2

1 IfcosX:—% and tanX > 0, the value of sinX is?
3 5 5 3
D32 33 39—
A7 3 .
2 IfsmHzTand cos 0=—Z,What1s tan 6?
b4y ATy AT AT
3 4 3 3
3 IfsinH:—é

5 and cos &> 0, what is the value of tan 87
1)%2)—%3)%4)—%

4 Ifcos@= —% and @ lies in Quadrant II, what is the value of tan ?
D33y 53

5 IfcosA= % and A is in Quadrant I, what is the value of sinA - tan A?

SR

6 Ifcosf= 2

3 and sin @ > 0, then tan @ is

5 5 12 12
1)62)__3)?4)_?

12
7 IfsnA= —% and ZA terminates in Quadrant [V, tanA equals
7 7 24 24
D352 249 7 9 73

If x is a positive acute angle and cosX = 2 what is the exact value of sinx?
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If tanX = — and angle X lies in the second quadrant, what is the value of cos Xx?

3
| 3./5 ) 34/5 ; 3./13 . 34/13

) 5 ) - 5 ) 13 ) - 13
If cos Hz—% and tan @ is negative, the value of sin @ is
b4y N1 AT

) 52 4 4 4

If sinf= 1 and @ terminates in Quadrant II, what is the value of csc fecot §?

2
3 NE

1) 23 2) 73 3 2 4 -

. . 3 :
If x is a positive acute angle and cosX = 5 find the value of sinX.

If the sine of an angle is % and the angle is not in Quadrant I, what is the value of the cosine of the angle?

If sm@= —% and @ is in Quadrant IV, find tan 6.

If @ terminates in Quadrant IT and sin &= %, find cos 6.

If tanA = I—; and cos A > 0, find sinA.

Given tan 8= 3 and z

B 7 < 0 < r, determine the exact value of the expression sin & cot 6.

If sin 8= —% and tan @ is positive, what is the value of cos 6?
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1 ANS: 4 REF: 018628siii
2 ANS: 4 REF: 010321siii
3 ANS: 2 REF: 010021siii
4 ANS: 3
If cos 0= 4 and @ lies in Quadrant II, then sin 6= é tan 6= ——— 0_>_3
5 5 cos @
REF: 061004b
5 ANS: 1 REF: 069421siii
6 ANS: 4 REF: 068417siii
7 ANS: 2
1
: 7 24 sinA 25 7
IfsmA——ZS,cosA— 25,and‘[anA— cosA~ 24 T 24
25
REF: 011413a2
8 ANS: 2
cos*8+sin* =1
V3o,
— ) +an“ =1
( 2 )
3.
—+sind=1
16
_ 13
sin® 8="—
sin & = —.JE
4
REF: 080604b
9 ANS: 4 REF: 068632siii
10 ANS: 4 REF: 019431siii
11 ANS: 1
1 _ 3
If sin @ = 3 and @ terminates in Quadrant I, cos 8= 5 - ¢se Gecot =

REF: 011721a2
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ANS:
4

5

REF: 019003siii
ANS:

2 .2
cos  B+sin =1

REF: 080121b
ANS:
4

3

REF: 089007siii
ANS:

5
13

REF: 01961 1siii
ANS:

S
13

REF: 068013siii
ANS:

. 12)( 5
sin @ cot@= [—?][1—3] =

REF: 061635a2
ANS:

15
17

REF: 089712siii

. Since the angle is not in Quadrant I, cos & = -



